a9

4 N

PRIMA di montare i
portavaligia laterali
necessario aver gi montato
il portavaligia centrale

Before mounting the tubular
side-case holder it is
necessary to mount the top
case carrier

Avant de monter les supports
valises il est n cessaire de
monter le porte paquetcentral

Bevor Sie die Seitentr ger
montieren, mu§ der Topcase
Tr ger montiert werden

Montar el portamaletas central
ANTES de montar los

( r N N N ( N ([ N \
(M) PORTAVALIGIE LATERALE SPECIFICO - SPECIFIC TUBOLAR SIDE-CASE HOIDER @ @ @ @ @
o PORTE-VALISES LAT RAUX SP CIFIQUE - SPEZIFISCHES STAHLROHR-SEITENTRAEGER
PORTA-EQUIPAJE LATERAL ESPEC FICO
3 @ @ wi
X VITE TE M8X20 PONTE POSTERIORE DADO ORIGINALE
. —A>E>m >E N N wﬂ NS OM \ O“W SCREW M8X20 REAR BRIDGE ORIGINAL BOLT RONDELLA flax14 FUNGHETTO
— VIS M8X20 PONT POSTERIEURE ECROU ORIGINAL RONDELLE A8X1 4 CRAMPILON
< SCHRAUBE M8X20 BRUCKE ORIGINAL MUTTER SCHEIBE fiax 4 LAGER
< ORIGINAL M8X20 PUENTE POSTERIOR TUERCA ORIGINAL ARANDELA H8X14 BRIDA
—
o ISTRUZIONI DI MONTAGGIO - MOUNTING INSTRUCTIONS
v \ INSTRUCTIONS DE MONTAGE - BAUANLEITUNG - INSTRUCCIONES DE MONTAJE / QTY n20x ) QTY N2 J{ QTYn1 ) \_QIYn- ) QT¥Yn2 J|_QTYn2 )
—® \( @ )
N
4 4 N Kb
T
COPRIVITE VITE TSCEI M6X40
SCREW CAP SCREW M6X40
CACHE VIS VIS M6X40
STOPSSCHRAUBE SCHRAUBE M6X40
ORIGINAL Mé6X40
\_ Q.TY n.2 J Q.TY n.2 )

' Copyright 04092006-Rev03, 1/1

portamaletas laterales

\ _/

~




